Yod 2 - yshms 3 Linea %/aJWV)S

Q) 1o 3660 =2 parathil dirvo => <ames!
. ﬂa(/%u/n‘%;)aa;ﬁ

IX-YW=4 or Y=3X-4 = m=3
»w% 0 :G(o}\z X ‘O/\L—ﬁm-“élk
TeC R 2 e a gk

1O/ = 10/-a2= -5 —r" 300&%& -mEe

@) %ifﬁiéaauo carvts W@’
aheon S :
a%%ﬁ //co ford aovo @
& (aho camate/enams
50/068 Ca% p\%ebm/c%{ R wWth RRETF
i id
30 4V% (% ENLOY) D

e, x #6f Fanwo unpabC | N=#2 B 1 PRC
388 B wn XYz | =#of & 1) ABC
5z7<+ % = /05]00 tgm + 8 =10, (00

,fzfx+1 -0 g (X )#é@( 14)=540

28 A3 (0)00 vred [ 10(00 YY‘C]C
214 "Zhz ‘”/23 Yo | —
E 0 zoo ><——\oo | 0|azoo | ¥ = 3200
01300 ¢4=300 o1\ = Kfele

i W fOD@% Lot #3200 con A8
2‘&% ool 46900 un XYZ



7! O Jr%x@h ’h@ <uwj20“v’\

4 23
@ Q;j%%z ;l% r 2\ |
L | |3 | RKREF
\’o’x*‘;éh?z/} ) 2

(Hho 2 |'% K +O0y+ B ov X+2=8

oV -l |-5|0ox+1g-127-5 or §-L=-5

o0 00 Jox+ yroz=0
(x,y,2) = (3-3t) £- 5, Jg) tany #




- =

@

2 B ,g’q/

xr 4
o, ~/ax+t3 /z 3115 | -2y~ R,
A A +% \% =¥

= 1;@,*6,@;[ ]
|7
(\7(/9-7 (,@1’73

\1 74
) :?(@ (\\/LQ y@(\(@
/7Q19QLY ~6 «io R + B —>F,
o | >

- #60 Yiesuoh
é #& Fuend o ’ _a/
s + A4+ [Z2=20 Jm‘ﬂldf '/’Dbug-ﬁ/gh
N= & roh 88(”0/ h )Qg;?\

o 2L E)E LS

\
) =(atj0-3t £ ) ¢ #M
i )/ (/O)O> bu(jo gotel | IDW% O@wzrﬁ%

1= 0

'L’\ ("Z /7) 7

=2 (44, % Lf H L
J(,T% ((0)\)3 ) | 9,

&V@E 0,1, 2073 @Wr)n%///; wnth the M,Vn/gév 0/
;'” 7Lu el V‘\/ nUm l// VS%‘Q@&/\ QNO/



T %

o W Wil Al 5

- .

[ :n - ! 1%
M A e ) 3

. [ 45 5l
w o o

-~ .
=2 ¢ =-30 ho Valieess => 190 SO
_ ; & ‘j".? e 5 _ “_‘r; < ! & » i Zﬂi:,. ! D | ,

le_ >

= @;*?%5%_}— Sl Z2=10
R¥%0 | ==t Tho= B30




